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Each trigonometric function is

equal to either of its adjacent
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the next adjacent trigonometric functi

x x
x

x x
x x

x
x

x

o

x
x

n

x

 




n

 
sin

cot sec
csc =

cos tan
cos csc

cot =
sin sec
sin cot

cos =
tan csc

x

x
x x

x
x x
x x

x
x x
x x

x
x x







sin sec cot 1

tan csc cos 1

     

   1.

The product of any three

non adjacent functions i

x x

x

s

x

x x

  
  



Trigonometric Identity 
Hexagon

(a convenient way to remember 
26 trigonometric identities)

JMAP Extras – Trigonometric Identity Hexagon
www.jmap.org

Is  this figure a 
hexagon, a cube, or 

both?
Order is important!


